% : 2 () AaTm

() == i 80 sifvard we sy, st wesieh <t o e oyl 1 worgieiv e e e fe e
AL 7Y 3 w5 A e B Gvia HHARRIRE T A L

(2) smen wie-woiw g0 S
7 faaear ateu fomra

> ws i 2020 Z13
wyf®T HHih
BOOKLET NO. 557053
PEERIEsCal O W : 80
oot I1 WeHUT I[UT : 200
=T

whar-ww A |0 [0 4 Jo | 1o [7
T
e W s b

(3) mmmmmmmqﬁwﬁmmmﬁaﬁaﬂqﬁmwmmm

(4) (a1) mmmmammwwm1 2, 3 =717 4 30w oo A, &1 91 IAAOET Faa
Wsmmmmmmmwmm.mmmmmm,m

T ITES UH A T

() s sar faeranst wodt wwiva s s fafi et sk, fewaren WAt Uy TTE AT e v
I BOTER W mrfie: gursirte fean Wt vy qEuEie

mmmm,mmmmmmmm
(%) WS 9 Ui SFETEe W ST FE WSt 9 W 2O e ASdre.

(5) = FHi wAE I SEA. A He e SO, S T S AR A 2 e e e T we

TEEr.

(6) ST T TE R T = AU AL T F IR G A I e A e o A6,

HeA § W gE 9T A d W gEe S 0 A 59 A6
(=) “Decision Making & Problem Solving” #{i wwii=n J#i=n amaE)

(7) (=1)

FAOGE T

T 35 T e e




C 3 Z13

T 3T T v SR w8, 1 % 5 el e

ﬁ-“ﬁ@mmammmmﬁ,w@w—wmmm
ﬁm@mmﬁwﬂmmmmaﬁﬁﬁmm. - reEar T B T
LIS Sehieh e ot S s, weeet s s 4 s o, qe v Wi
T, ﬁ—ﬁwmmmm-wmmﬁwwﬁﬁm
meﬂmwmmmmmmmw
T, ST, ST T e cten st Rt SR T S, T s
memmmmmﬁﬁmmg@mmﬁ;ﬁmm. 9 T
Wmmmmm@mwm.

ST TR 1 Wehree1 o e e T firveran s soaa, 9T SR Hee e,
Wﬁmmﬁmwmﬁhﬂmﬁmwmwmmm

mﬁmmmmmmmwmmmmw

frae aret @l & i@ A @ T e T g SN EF He WS YT AL T
HYNEAAE A ARSI WHR F W ), R A T TSAHE A de anfy et
GO a0 B, e T & G - H AT T ST e, FIE TR TR vt




4

Z13
uestions 1 t0 5.

e which does

lation has ©

d answer the 4
not afford any

Read the following passage an
f being included

is that sam
ty that each item

pling procedur
in the pop4
so known by diffe

t sampling.
y the researcher; his choice

Non-probability sampling

basis for estimating the probabﬂi
in the sample. Non-probability sampling 18 al

deli
eliberate sampling, purposive sampling and judgemen

sam i
cmcpehﬂg 1tt:lms for the sample are selected deliberately D
rning the items remains supreme In other words, under non- probablllty sampling,

the o :

msm t:;::;l:nzmry purposively choose the particular units of the universe for

YN it o 0 all's the basis that the small mass that they soO select out of a

Cond‘lt:mns of o pec@;e ];; representative of the whole. For instance, if economic
g in a state are to be studied, a few towns and villages

e Z:’wﬂl:i ﬂe::::ﬂd for intensive study on the principle that they can be
s Plﬂ»’ﬁ!an g state. Thus, the judgment of the organisers of the study
o s anie "“_m nt part in ﬁhiﬂ samphn.g design.
e ;
SIS e tm g great chance of entering into the selection
le Whmh Shall yield results favourable

get uﬁatﬁd Th
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1. WM fFraeden T favdwom snfm fed favasta g weam. 57
(a) wYiYF yduesfig Tude w
(b) HYINF v s 71
(c) HuoFR s Fe T Faee m
(d) =i wifers vgdt arwen
QI Y
(1) =0e ud vy drg e, -
«(2) FH (a), (b) O (o) & d@g gl s
A3) = (a) 3 (b) ¥ A uiy AR,

(4) Fletw! FHwEE var g 9@,

Results obtained from an analysis of a deliberately selected sample may be reliable
e

(@) Investigators are unbiased.

(b) Investigators are experienced.

(c) Investigators select a favourable sample.

(d) Investigators use statistical methods.
Answer Options :

(1) All of the above are correct.

(2) Only (a), (b) and (c) are correct.

(3) Only (a) and (b) are correct.

(4) None of the above are correct.

2. T-wvE T ygd woe e siead a1

(1) g T (2) o= T |
(3) A T | (4) e T
Non-Probability Sampling is NOT known by this name :

(1) Purposive Sampling (2)  Judgement Sampling
-(3) Random Sampling (4) Deliberate Sampling

| . - o of
A-..M R SR s
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(1)
(3)

The Central Idea of

(1)
(3)

6

3. mmﬁwmaﬁ"ﬁ?aﬁ%?
gifier! fawea

Hureaen T (2)
angfea® T (4) TR T

the passage is concerned with :
Probability Sampling (2) Statistical Analysis
-(4) Non-probability sampling

Random Sampling

7 A GEGTH] FOT A FSS e 7

(1)
(2)
(3)
(#)
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following passage and answer the questions from 6 to 1U.
Read the
Bio-fuel
motor car

se two persons made revolution in
should be run on fuel obtained from

Henry Ford and Rudolf Diesel the
e competition. Petrol

industry. They expected that their motor car
plants, but in those days crude oil was the cheapest and won th

Soame popular and drear of Hetry Ford and Rudolf Diesel shattered. After a century
the will of Henry Ford and Rudolf Diesel is about to fulfil. Presently the hike in the
petroleum opens the channel for bio-fuel. Slowly the use of pio-fucl in cars, trucka
and aeroplanes is becoming popular.
Brazil took lead in the bio-fuel. At present there are more than fo
from sugarcane.

ethanol production centres in that country, that ethanol produced only
They do not use the pure gasoline but mixed 25% ethanol in it. In future, only ethanol

consuming vehicles will be manufactured in that country. More and more land is used
for the plantation of sugarcane and ethanol producing plants. “Gasoline cars are
slowly disappearing.” technicians of that country claim.
Ethanol i : - 7 :
B.n i ol is obtained from maize in America. Germany is the largest producer of
g el in Europe. Along with India other 30 countries are trying to produce ethanol
m vari
ous plants. Ethanol can be produced from the plants like coc
onut, soyabean,

groundnut, palm, grapes and beetroot.

ur hundred

need to change the vehicle :
emit carbon-dioxi engines for bio-fuel. Its gpeciafire, -
gk Speciality is that i, fuel
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5. e P 3 Pred s A T S

P : e & @ o T 3 I

fread (a) : @ o Fiftidion FgaEd T4 @,

(B) : et o Se fawt A FAfe 2
Tgfdt 3T

. (1) fA=hd (A) s S (B) T
(2) fr=ed (A) sfor (B) aER
(3) fr=rd (A) =nfor (B) 5%

(4) fr=Fd (A) 9% 3 (B) FU&T

Choose the correct alternative from Statement and Conclusion given blfzslli.')‘wr :

Statement : Bio-fuel is alternative to crude oil, :

Conclusion (A) : Crude oil takes crores of years to produce,
(B) : Due to crude oil, toxic gases will be created.
Answer Options :
- (1) Conclusion (A) correct, (B) incorrect
N L, 4 2
) Conclusion (A) and (B) correce .

jasrey

R G
! i ( ;
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9.

L (3) (a), (b) =T () (4) =he=d

1i z13

SAEEYT AT W FIUH EEE wiET 3k ?
(a) SEFEYR ITEHATET IR FE A,

(b) SEEEAES WG FH B,

(c) SrEgyEe Witse amafaa 33,

(d) SHeEEYH = TR,

mm:

(1) (a) = (b) (2) (b) FW (c) B

Which of the following benefits of use of Bio-fuel are correct ?
(a) Bio-fuel is made from vegetations.
(b) Less pollution by use of bio-fuel.
(c) Use of bio-fuel will save crude oil
(d) Bio-fuel is cheap.

(1) (a)and (b) (2) (b)and(e)

(3) (&), (b) and (c) (4) Aboveall

10.

(a) R T S S
(b) T T AR &
(c) TS W
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Read the following passage and answer the questions 11 - 15.
Of Force, Criminal Force and Assault
349. Force - A person is said to use force to another if he causes motion, change
of motion, or cessation of motion to that other, or if he causes to any substance such
motion, or change of motion, or cessation of motion as brings that substance into
contact with any part of that other’s body, or with anything which that other is wearing

or carrying, or with anything so situated that such contact affects that other’s sense of
feeling.

Provided that the person causing the motion, or change of motion, or cessation of

motion, causes that motion, change of motion, or cessation of motion in one of the
three ways hereinafter described. -

First - By his own bodily power. _
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14
11, g o e T s e (4 s 5 A
R
S (1) wwEm c(2) R SO
(3) = (4) it T A
«pa® has done SO without “Y's”

“A” intentionally pushes against “Y” in the street.
jury to “Y". The act of *A" 8. ——

consent, intending to cause In

(1) Force .(2) Criminal Force

3
(3) Assault (4) None of the above

12.

ﬁ?ﬂtﬂﬁﬁﬂﬂt.ﬂgﬁﬁaﬂﬁﬁmﬁﬁmwﬁuﬁmaﬁm?

() = qen sy e @ H, U a o e - € A R A HrEa.

(b) *‘&" e wire g SEwge shed. fren i e et it ST T
oz sl 78 e - 37" 3 foren A SR T Fo AR, i =




(1) e (a)
 (3) (@), (b) F (g
“Force” includes -
(a)  Use of own bodily power.
(b) By disposing any '




2019-20 1 A TR 140 T S R A
aﬂﬂmiﬂmmmﬁﬂmﬁﬁaﬁaﬁ 12 aiaﬁmmmmﬁ‘uﬁﬁ@

2@1{3@%!6%@

g faerae T 2019-20 ¥ sefdEfa T 75,000
1 TEUNH 43 TF T @4 F
o st R et AT A

s, 21, 2019 T WA < 32,577




Z13

557059

C 17

Read the following passage and answer the questions 16 to 20.
Hurdles in PM- Kisan Scheme.

The Modi government's cash-for-farmers programme has been able to benefit ;lﬂlY
half of the 140 million farmers targeted in 2019-20 due to implementation h'ur es,
according to figures presented in Parliament. The next disbursal, now_due, is likely to
leave out those who have not been able to link their bank accounts with Aadhaar, the
universal 12-digit biometric identity number.

Under PM-KISAN, the government provides income support of 7 6,000 a year to
farmers with a valid enrolment, paid in three equal cash transfers of L4 -'2_,000 -one
every four months . It was launched on 24 February 2019, when the first instalment
was paid. )

At the current rate of expansion, the government is unlikely to spend the entire
¥ 75,000 crore budgeted for 2019-20. As on October 21, 2019, the government has
spent ¥ 32,577 crore, or 43% of this. , .

Aadhaar-based enrolment and cash transfers, slow internet conngcﬁgng n many
rural centres and messy land records have slowed the programme, the farm ministry
told a parliamentary panel this month,

Cash transfers under the programme take place every four months : December to
March, April to July and August to November. In the first instalment period (December
2018 to ‘March 2019), nearly 70.2 million farmers received a total of
¥ 14,055 crore. In the second tranche (April to July 2019), only 59.2 million were paid
a total amount of ¥ 11,845 crore. The third instalment saw 33.3 million farmers
benefiting, with a payout of T 6,677 crore. _ ¢ o B

There’s a reason those numbers look out of place. After all,if 70:2 mil
received the first instalment, why did only 59.2 receive a second insts
33.3 millien a third ? The agriculture ministry counts the first t
farmer, even if it was paid for the second period due to late enrolm
instalment paid'. This means even if a farmer enrolled in the seco period
July 2019 ) and got his instalment for this period as his first ever cash transfer,
be counted among those receiving the first instalment (December 2018 to
This inflates the total mumber of farmers, as shown above. @~

In all, of the targeted 140 million farmers, nearly 7
received the payouts, as the ministry noted befo
“I would like to make it clear that the total number of far
is right now 7,17,42,959”, a ministry official said in the rep

That leave another 69 million to be targ

2019 (they have received three
from it between April and
August and Nuwmben],{
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19, tun.-fHEE drrEmEy fedfe 2018 7 #E 2019 S dfew €
(1) ¥ 14,055 F& 2) 711,845 08

(3) % 6,677 FA
2019, cash transfer to farmers was worth .

(1) T 14,055 cr.
(3) ¥ 6,677 cr.
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The general motion of a massive
force can be solved in closed for:
is given by :

Fe GmMe




21. At FAIET R T AT M
st 4 Y91 AEES, T N Fal A
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(3) 8 T ARV (4) 04 E“;Z Carth at 2 » distance R from
A satellite of mass m is in circular orbit around then the period of the of
the Earth's center. If R is increased py a factor GIATEES o4
will be : :
(1) unchanged (2) increase py a factor gof ¢
(3) increased by a factor of 8 (4) izlc;ﬂas!Sd py a fi tor of 64
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74 _ S W L Ya
(1) [zlscm)z @ [zg:»[efﬁ @ e’ (4) (2mGRe)

The amount of energy needed to move a rocket having mass m from the su:

the Earth to a distance R from the Earth’s center is E = GmMe|

the minimum velocity, the rocket must have i#{... der to ¢
e

Earth's gravitational field ?

2GMe %
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Read the following passage and answer the questions 26 to 30.

Plant kingdom includes algae, bryophytes, pteridophytes,
angiosperms. Algae are chlorophyll-bearing simple, thalloid, autotro; o
aquatic organisms. Depending on the type of pigment possemd and the type af |
food, algae are classified into three classes, namely Chlomphycﬂac, Phacopihyeem
and Rhodophyceae. Algae usually reproduce vegetatively by fra ntation, asexuaty
by formation of different types of spores and sexually by formatmn Gf garnetea
may show isogamy, anisogamy or oogamy. .

Bryophytes are plants which can live in soil but are deper feaaL
sexual reproduction. Their plant body is more diﬁ‘etenﬂﬁtﬁd ﬂmn
thallus-like and prostrate or erect and attached to the 511 straty
possess root-like, leaf-like and stem-hke strl.‘x

called & sporophyte: -.1;, Pmdm‘ aploid spores.
gametophytes.
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26. i 73 arted S A T
*(a) VM@
(b) WHEIEEEY
(c) ErFE=H
(d) sFmET Fed T
gatdt 3wy |
(1) = () @) (@ ) >
@) (@), (), (0 3T (@)

(3) (c) =nfn (d) : o
Chlorophyll pigment is present in which of the following plants
(a) Algae

(b) BI'YOph}_'tes

(c) Pteridophytes

(d) Gymnosperms

Answer Options : .
(1) (a) only () (e)and(b)
(3) (c) and (d) (4) (a), (b), (c) and (d)

27. mwmﬁwm@m___mmm L
(1) Frefrsien & gereiriton am aliad R S 5
» (2) Mmﬁmm P s TR
(4) TR 3 Ao 2 05, il -i"-;;-'j?':l'ff.
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Read the following passage and or i questiond Naws 31 40798,
When scwage is dropped on land, the bacteria presen il at

convert the content of sewage into plant food. The latter gets ut

the plants or crops. The organic matter present in s

by aerobic and non-aerobic bacteria, but it is profitable to

the disposal of sewage by land treatment. The oxygen that is

decomposition, is present in different layers of the soil. The CO,

of decomposition is given b}' the sqil‘q_:- andm b, ol

This interchange of oxygen and carbon dioxide ta

organic matter of the sewage is




(1) (a) SfT (b) (2 (b

(3) (b) = (c) (4)

v b
During the aerobic decomposition of sewage, by
from the atmosphere

the atmospheric oxygen

acteriﬂ "

(a) the required oxygen is directly taken
(b) the produced carbon dioxide is interchanged with
(c) the carbon dioxide present in different layers of soil is used

Answer Options :

(1) (a) and (b) [(2) (b)
(3) (b) and (c) (4) None of the above
32. WiEUYEN FAEH WEWES B9 a2 B
.(a) ifow (b) At fwm
(c) ET TEAFRES (d) framy
TaiEt Y : |
(1) (a), : \ '

The sewage is converted into plant food by :

(b), (o), (d)
(a) Physical action E

(c) Carbon dioxide ' i d: :#ef“‘fa_l action |
Answer Options : E acterig Ak i
() @) 10 @ ), @ e
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33. @SR W fewn

, (a) Hfzg e

(c) =0 9ard

watdt 39T ; |
(1) (a) nfor (q) @) (b) wfn )
The major portion of skt

(a) Organic matter

Answer Options :

(1) (a) and (d],

®




(c) T s i o H
(d) WeFH AT e WA ST
it It :

- (1) = (b) 3O (c) (2) T () F(d)

(3) (a), (b), (c) (4) (b), (o), (d)
Which of the following are incorrect statements ?

(a) A non-aerobic decomposition is not preferred over an aerobic decomposition

(b) Porous soil is not preferred for filtration,

(€) Organic acids present in soil decrease the fertility of soil

hESD e,
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Political educa
informed, resp?“ﬂbl? :;':;
for the realization of : dia arc ' jety 1
s{;cio-ecnnnmiﬂ nb.f"~"‘:tweS];;j:l ;;l:d socialist 5 liti

: U : : -
modern democratic, S€CH egalitarian 09¢ ed that PO that education anq
; d ineg ew
feudal, hierarchical an Jeaders ae e official V1

wer in 1947
" Congress ept came to po :
Under British mlﬂ,‘the 4 refused to acc Put hen they .o heing defiles
important part of education an e another. But ¥ ation 1 b}'

s0C
cal education was an

uc : o
on to talk of ed t 1ﬂ5p1tﬂ of it, pOll.tl,Cal

i ixed with an ;
litics should not be mixed | . and beg 25 es. Bu :
g:jcy almost adopted the British pot]::gcﬂﬂ to political parti 4 in the sense that different

. 1 o ase

politics. ‘Hands off educatfon alw: Ztem has greatly IﬂCfejn ds of teachers and stqdenta.
infiltration into the education i-fher to capture the mi litical interference. What
The wise academicians wanted political SUPFY ference with : :

ived is infinite political INter litical parties for theijr
we have actually received is 1_an1‘11 P tional system by poli 7 |
support. This interference Mﬂ:l the cduc?L ¢ all and with the all—r‘{)u.ﬂ growth of
own ulterior motives is no political ec.lucaﬁui’re 2 p;;.utical education within the schog]
elitism, it is hardly a matter for surpnsre tha e e fDI‘mation]
system (which really means the creat;c'm of a comm i
has been even weaker than in the pre-independence period.

At the same time, the freedom struggle came to an end aIlld the major non-fo.n.;ual
agency of political education disappeared. The press could and did provide some political .
education. But it did not utilize the opportunity to the full and the stranglehold of
vested interests continued to dominate it. The same can be said of political parties as
well as of other linstitu'ti‘ons and agencies outside the school system which can be
Lepected to provide political education. Most things considered, it appears that we
have made no progress in genuine political education in the Post ing i
and have even sided back in some respects. For in Independence period

1 Stance, the education system has

become even more elite-oriented Patrioti
. tism hag become th
€ first casualty. Gandhi
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agitation and anarchjc politics for hldivid::ic Issueg in g disciplined manner
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(1)
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. (3) ﬁmmmmﬁﬁmﬁﬂﬁ

(4) ot Wt A T S
{ ch is the major problem of the present edu
1) It is %

t is based on the British Model of education.

(2) It does not inculcate values to the students.

cation system P
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40 0. 46 to 50 on the
z13 sestion SN
and answer the §
Read the given passage carefully levels of meaning they

he maﬂYThis does not mean they
The richness of great books shov of in nt interpretationg

contain. They lend themselves t0 a,"a‘f‘:q’compmmjsc > s o unity of the wortk ai:*lum a

i ir integrity 1 i to ge
o a.;nblgutous o;nt;h;f:rth;:; :]].ll:vfrr ttl-z; reader t0 mscovc;ore s gcc As gA’oi::1.11".::e‘:;.h:1;
nt one .

?a:il:,t;?t? perspectives. We need not read at bo0

they have to say. But we can always go

enlightenment, they are inexhaustible.

basis of the content of the passage-

ed to @ definite period of
s from dealing with the
and in a way that

’ e limit
written is Lim!
The interest in many good books that are eal that result

P d places

: e iversal ap
history. They do not exhibit the universa: : times an
fundamental questions which confront men in all books, on the contrary, transcend
men in all times and places can understand. Greal orld literature. The ones we are
the provincial limits of their origin. They remain as W d again through the

to again an
sure are great, are the once men everywhere turn

centuries. | -
¢ books must pass the test of time. This js

In view of this, it is often said that grea _ cat. They wer
quite true. But it is not the passage of time that makes the b::orl; egrrcl confirr)trna it:
great when they were written. An enduring interest in a boo Y

ks great, but we cannot be sure.

greatness. We may consider some contemporary boo .
Their excellence still remains to be proved before the tribunal of the ages.

Mark Twain once remarked that “the great books are the books that everyone
wishes he had read, but no one wants to read.” People wish they had read them
because they are the indispensible material of a liberal education. They shy away
from reading them because these books require thought. And thinking is hard. It is
probably one of the most painful things that human beings are called upon to do.

The great books are not easy to read. No 0111'.‘. shoﬁlld . t Ao )
very well on a first reading, no even to master them fully ﬁ?c to und;;tﬂnd t}lllcm
often said that they are the books which are over everyone’s head a]f :ﬁhe g.:l.':l ; 1;"'"::
€. a

is why they must be read and re-read. That is al
thing which are over our head can lift us up, so why they are good for us, Only the

e e
46. Choose the best option/s : %
The richness of great books shows itself in the many | e - o
: — Y levels of mcanm ing they
L S ' g e
(1) control (2) Cilvalup 1B
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50. Which of the following statements arc true in the context © i
(a) Great books require thought.
(b) Good books are world literature:
(c) Hard thinking is not painful for man-
(d) Great books do not have universal apll'ﬂal
{e) Longlasting interest in books make them great.
. (1) (a) and () (2) (a), (b) and (©
(3) (d) and (e) (4) (b) and (d)
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(3) 2470 (4) for it

Accompanying graphical representation shows ratios of export to mwﬂ of two
companies namely A (with squares) and B (with triangles) over the Sven yeads,
In 2014, export of company A was double to that of company B. If the import of
company A during the year 2014 is T 400 crores, select the most nearest

approximate export of company B during that year,
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55. Wﬁma?ﬂﬁmmm
Wﬁmmﬁﬁﬁwm

(1) 25 (2) 45

356122: re:;tr:;?i\ffly el-;ai er wheel and smaller wheel of a tractor are 50 cm and
3 OW man : e hen the
bigger one makes 21 ok Yy rev? olutions will the smaller wheel make when the

50 . & 35 H.f1. sy, e Hrew T 21 FOT
?

(3) 30 (4) 32

(1) 25 (2) 45 (3) 30 (4) 32

56. @ e SR fAurEide 2 faud v A ge smow A W @ e e 3
forur alk

(a)

= -




(a) Members of farmer's families only can appear for the agricultural university
admission examinations. A

(b) Some girls are appearing for admission examination.

(¢) All girls candidates are given free coaching fo-r Bne NGO .
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An equilateral triangle is inseribed in
how many times is the area :ri-bed m
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- : idence, select the
Read the following conversation carefully and using this as B‘:lhetween pdeie
option that serves as a conclusion pointing to the disagreemen

hunter and archaeologist.

Treasure Hunter :

cannot legally be privately owned. Centuries-old maritime

who risk their lives attem

In general, archaeological artefacts found on public property

law allows persons
pting to rescue a sunken ship are permitted to keep

whatever cargo they can salvage. Under this rule treasure hunters clearly are

entitled to keep the cargo
save from becoming extinc

from ancient shipwrecks that they risk their lives to
t in salty ocean waters,

Archaeologist : Not so. These shipwrecks have stabiliz
‘ ed ov i
have lain underwater. The only danger they are in ig frzinmg‘ar::g;uzzismug

(1) Whether maritime law can be ever ap
(2)  Whether is it legitimate to cal antiqy

(3) Whether a treasyre hunters rigk thei

(4) In what Sense, if any, an ancien

eXtinction,
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ers have red covers. o
« books while

while other :
M and N ar€ law

o ,am T i
six books kept in a steel
bo@k.has a blue

, P, N and Q have blue covers
the rest are old volumes. L, R
book of law
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=i . are i solie = :




- WA -
N It
- Ry Wy =
SN A

b

S
5%

R: %S T %S TEL ﬁt%t—gw
S : ¥ i e A, P%iﬂi#'-\m

o .
e e aa'd®

f':
']







%ﬁ-ﬂﬁ—_—"'

(
s 53 z13
g7 TN FHEE e W‘r ¢
AR SR sramn saftn W o W steia fe e
449 (2) 50 3 3 | I
Study the acx OMpanying ’IRUI‘E showing overlapping equilateral trniangles and select
the value of angle a in degrees
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The research published in the ‘Journal of Clinical Endocrinology and Metabolism’,
is the first of its kinds to investigate the association between the chemical triclosan,
exposure with bone mineral density and osteoporosis. A person can be exposed to
triclosan via consumer products like soaps, toothpastes, sanitizers and other such
products. ‘However little 1s known about the relationship between triclosan and
human bone health. Laboratory studies have demonstrated that triclosan may
have potential to adversely affect the bone density in animals,” said one scientist

studying effects of triclosan.

Select the most ap

propriate conclusion based on above information.,
se of triclosan in the products listed above though

1 i to ban u .
W :rte;}s’ ]Il}fti:: Sizark?t’m“m about its effect on animal bones.
; bone is not known, there is n
: f triclosan on humaI} ! ) o need
(2) tsﬂcai; :x:;f,;r e]i-e:ctaztion apout its use in different products used by human
bu.eings. . tion between triclosan and its exposure with bone mineral
(3) 3mcc‘tﬂl?sa:iiizyoinvestigawd' it is necessary to ban its use in various
ensity i _
products used by human beins ted that triclosan may have i
. dies have demonstrate Y POiSRERL D
(4) Sfl?ce iﬂm& jlmnsity in animals, it is necessary to ban its use in various
ect bone d¢€
products used by human$-
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